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Abstract of the contribution: This P-CR propose a text to be added to the Conclusion section in the TR23.704.
Proposal
It is proposed to add the below text to section 8 Conclusion in 3GPP TR23.704.

>>>>>>>>>>>>>>>>>> Start of Change <<<<<<<<<<<<<<<

8
Conclusion


It is concluded based on the evaluation of solution(s) in section 7 that solution #m is selected for normative implementation.

The solution contains three new main building blocks which effects signalling between the radio network (RAN) and the core network (CN) and have to be added as normative requirements in 3GPP TS 23.251:

1.
 Additional IE sent from target CN to target RAN in existing RANAP and BSSGP/BSSMAP messages. The additional IEs to be sent if available are old LAI/RAI, CS/PS NRI, and Attach/not Attach. This information may be used by the target RAN to conclude if the UE is:

i)
Roaming within the NRI coordinated area, or

ii)
Coming from outside the NRI coordinated area or attaching. 
2.
New procedure for target RAN to retrieve operator ID from opposite domain (CS or PS domain) in target CN. The operator ID in the opposite domain is needed for synchronization of the operator in CS and PS domain i.e. CSPS Coordination. The procedure is needed in scenarios as e.g. Operator Centric: PS handover to GERAN with no DTM support, user is not SGs registered.
3.
New procedure for target RAN to retrieve the operator ID from the source CN is needed to avoid change of operator in scenario Attach without SGs registration and non-DTM. The request will go from target RAN via target CN to the source CN.
The RAN internal logic, how to handle above building blocks to achieve CSPS coordination and avoid change of operator, may be added as an appendix in 3GPP TS 23.251 using the text and figures from the clause 7.x as an example how this logic can be done.
>>>>>>>>>>>>>>>>>> End of Change <<<<<<<<<<<<<<<
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